CHAPTER 8

Installing the Cisco 7010

This chapter includes procedures for rack-mounting and installing the Cisco 7010.

Rack-Mounting the Chassis

If you choose not to rack-mount the chassis, proceed to the section “General Installation.”
Before you begin the optional rack installation, have the following tools and parts on hand:

® Number 1 and number 2 Phillips screwdrivers

® 1/4-inch and 3/16-inch flat-blade screwdrivers

® Tape measure

® Level (optional)

® Two chassis ears (rack brackets)

® Four M4 x 10mm Phillips flat-head screws to secure the ears to the chassis

® Eight 10-32 x 3/8-inch slotted binderhead screws to secure the chassis ears to the
rack-mounting strips (rails)

Installing the Cisco 7010 3-1



Rack-Mounting the Chassis

must take special precautions to ensure that the system remains stable. The following

Warning To prevent bodily injury when mounting or servicing this unit in a rack, you
; guidelines are provided to ensure your safety:
— This unit should be mounted at the bottom of the rack if it is the only unit in the rack.

— When mounting this unit in a partially filled rack, load the rack from the bottom to
the top with the heaviest component at the bottom of the rack

— If the rack is provided with stabilizing devices, install the stabilizers before
mounting or servicing the unit in the rack.

For translated versions of this warning, refer to the appendix “Translated Safety Warnings.”

Caution To prevent injury or damage to the chassis, have someone assist you by

A supporting the chassis while you secure the chassis ears to the rack-mounting strips. When
you install the chassis in an enclosed rack, temporarily remove the rack door to provide
additional clearance.

Rack-mounting instructions are provided in Figure 3-1.

3-2 Cisco 7010 User Guide



Rack-Mounting the Chassis

Figure 3-1 Rack-Mounting the Chassis

=~ P

>

A

Rack mount the chassis as follows:

18.312"
hole centerline

to hole centerline

:

1. Measure the space between the vertical
mounting strips on your rack. Verify that your
rack conforms to the measurements
(shown in A).

0000000000000000000006 |
0000000000000000000008 [\ - ~

«—17.72" min.——>
LI <— Mounting strip |_|<€— Mounting strip
2. Use the four M4 x 10-mm screws provided
o - > - to attach the ears to the sides of the chassis,
oo 48 ko © o 7000 S (shown in B). Use two screws per ear.
S e g 12
O""g*‘"" 8718|"~ ~ <€—— M4 x 10-mm screws (4)
- / o' €«——— Ears(2)

)

]
. 3. To prevent injury, have someone help you
E install the chassis in the rack (shown in C).
e e Use the 10-32 x 3/8-inch screws provided to
@ 1B attach the ears to the mounting strips. Use four
@ | | screws per ear and mounting strip. Level the
5 chassis as required. Provide 2 inches of
L4 . clearance on each side of chassis.
o

feeec ec coo o o5

[66 06 cooco vo oo 60 00 60 00 060 00 60 o

-

32 x 3/8-inch screws (8)

o
10-

H2645

Installing the Cisco 7010 3-3



General Installation

General Installation

The chassis should already be in the area where you will install it, and your installation
location should already be determined. When installing the chassis on a table, ensure that
you have planned a clean, safe location for the chassis and have considered the following:

® The location does not block the chassis inlet (left side) and exhaust (right side) vents for
cooling air. Allow at least two inches of clearance on each side of the chassis.

® Multiple chassis can be installed in equipment racks with only an inch or more of
vertical clearance between each chassis. Do not place them side by side. Allow at least
two inches of clearance on each side of the chassis, and avoid placing other devices or
equipment nearby that can force heated exhaust air into the inlet vents of the chassis.

® Do notplace the chassis on the floor. Floors accumulate dust, which would be drawn
into the chassis interior by the fans. Excessive dust in the chassis interior can cause
overtemperature conditions and component failures. A raised platform or sturdy table
provides a cleaner environment than the floor.

® When you are deciding where to install any equipment, consider future maintenance
requirements. Allow adequate clearance for maintenance (installing or replacing
interface processors, adding network connection cables or equipment, and so forth).

lower edge and lift with both hands. To prevent injury, keep your back straight and lift with
your legs, not your back. To prevent damage to the chassis and components, never attempt
to lift the chassis with the handles on the power supplies or on the interface processors, or
by the plastic panels on the front of the chassis. These handles were not designed to support
the weight of the chassis. (For translated versions of this warning, refer to the appendi
“Translated Safety Warnings.”)

; Warning  Two people are required to lift the chassis. Grasp the chassis underneath the

3-4 Cisco 7010 User Guide



Attaching Cable-Management Brackets

If you do not install the chassis ina rack, follow these steps to install the chassis on a bench
or table:

Step 1 Make sure that the area in which you will install the chassis is free of debris and
dust.

Step 2 Make sure your path between the chassis and where you will place it is
unobstructed.

Step 3 On the chassis, ensure that all captive screws (on the processor modules, and so
forth) are tightened and the components are secure.

chassis with the handles on the interface processors. These handles are not designed to

a Caution To prevent damage to the chassis and components, never attempt to lift or tilt the
support the weight of the chassis.

Attaching Cable-Management Brackets

The cable-management brackets attach to the interface processor end of the chassis. To
install the brackets, you need a number 1 Phillips screwdriver, two cable-management
brackets, and six M3 x 8-mm Phillips panhead screws.

Use the brackets to keep network interface cables untangled and orderly, and to prevent
cables from hindering access to interface processors in the lower slots.

Install the brackets before connecting network interface cables to the interface processor
ports; otherwise, you will probably need to disconnect the cables to install the screws that
secure the brackets. Route interface cables through the brackets as you connect them to the
interface processor ports.

Installing the Cisco 7010 3-5



Attaching Cable-Management Brackets

Figure 3-2 shows how to install the cable-management brackets.

Figure 3-2 Installing the Cable-Management Brackets

Install the cable-management

Bracket (2
@) brackets as follows:

l 1. Place a bracket on the rear of the chassis,
_ as shown.
(QQ df h h
0 2. Insert and finger-tighten three
% P’o_&\- M3 Phillips scgrewsg.
3 QA———N
%8s = 3. Use a screwdriver to tighten all three

oo (R Q N Screws.

N
&
N
\

4. Repeat 1 and 2 for the other bracket.

T~

5. Route the interface cables through the
brackets.

H2644

M-3 screw (6)

Note If necessary, feed nylon or plastic cable ties through the holes provided in the
brackets to secure small-gauge cables.

3-6 Cisco 7010 User Guide



Setting the Boot Jumper on the RP

Setting the Boot Jumper on the RP

On the RP (running Cisco IOS releases earlier than Release 10.0), pins (aldoitsplled
0 through 3 on the configuration register form the boot,feeddshown in Figure 3-3.

Theboot fieldspecifies a number in binary. When the boot field is set to either 0 or 1
(0-0-0-0 or 0-0-0-1), the system ignores any boot instructions in the configuration file.
When the boot field is set to 0, you must boot the operating system manually by giving a
b (or boot) command to the system bootstrap program or ROM monitor.

Note If your RP is running Release 10.0 or later, or you have an RSP7000 in your Cisco
7010, refer to the section “Software Configuration Register Settings at Startup,” in the
chapter “Performing a Basic Configuration of the Cisco 7010.”

Figure 3-3 Configuration Register Boot Field on the RP

Boot field

\ SN

A

/ZZZZZZZW/[/

I

S

i

H2677

Configuration
register

Installing the Cisco 7010 3-7



Setting the Boot Jumper on the RP

You can enter thboot command only, or include additional boot instructions with the
command such as the name of a file stored in Flash memory or a file that you specify for
netbooting. If you use th@goot command without specifying a file or any other boot
instructions, the system boots from the read-only memory (ROM) image.

Otherwise, you can instruct the system to boot from a specific image such as a Flash file
(using theboot system flastilenamecommand), or boot from a network server by sending
broadcast TFTP requests (using bloet systemfilenamecommand), or send a direct

TFTP request to a specific server (usingltbet systenfilename addressommand).

When the boot field is set to 1 (the factory default), the system boots from ROM. Boot field
settings of 0 and 1 both override any boot instructions in the system configuration file. If
you set the boot field to any bit pattern other than 0 or 1, the system uses the resulting
number to form a filename for booting from a network.

To form the filename, the system starts witoand links the octal equivalent of the boot
field value (jumper setting) and the processor type in the following format:
cisco<jumpervalue>-<processorname¥he system uses that filename to invoke the
system image from ROM or by booting from a network.

However, if the configuration file contains any boot instructions, the system uses those boot
instructions instead of the filename it computed from the jumper settings. You must set the
boot field on your RP for the boot functions you require.

For more detailed information on the hardware configuration register or the software
configuration register feature, which is available in the Cisco Internetwork Operating
System (Cisco 10S) Release 10.0 or later, refer t€itbeo 7010 Hardware Installation
and Maintenanc@ublication, which is available on UniverCD or as a printed copy.

3-8 Cisco 7010 User Guide



